SR [ AR ACHNG

<]

7\ PERFORMANCE PRODUCTS & ACCESSORIES

GPR Aluminum Battery Tray
PART # RY1120

INSTALLATION INSTRUCTIONS

APPLICATION(S): GP 800R / 1200R / 1300R

REQUIRED ITEMS: 31/64” drill bit.

Remove the OE M8 bolt on rear / right side of bulkhead (see illustration #2).

Locate the high point in hull liner behind bulkhead on right side of hull and drill a hole using a 31/64” drill bit
(see illustration #2) no more than 7/8” deep in the center.

Insert riv-nut into hole while on tool and tighten according to included riv-nut instructions (see illustration #2).

Install RIVA GPR Aluminum Battery Tray using OE M8 bolt and included M8 x 20mm flat socket head bolt (see
illustration #3) and torque to 17 Nm / 1.7 mekgf / 12 ftelb. NOTE: Use Loctite 572 on bolts.

Recommendations:

Retain the OE battery pad and install into bottom of Aluminum Battery Tray.

Apply padding around inner sidewalls of battery tray for narrow or aftermarket batteries. RIVA Racing sells
sections of Hydro-Turf© for such applications.

Yamaha battery band EU0-U821D-00-00 to hold battery into battery tray.

Technical Support

For answers to questions regarding installation or trouble shooting RIVA Performance Products contact:
RIVA Technical Support directly at (954) 247-0705 or by e-mail at tech_support@rivamotorsports.com

Limited Warranty

RIVA Aluminum Batter Trays carry a 90-day limited warranty to the original purchaser. They are warranted to be free of defects in materials and
workmanship under normal use and service. Customer modified components will be void of warranty. This warranty is limited to defects in the
primary components only. Finish and/or wear marks in or on primary components are not covered under this warranty.

RIVA Racing'’s liability is expressly limited to the repair or replacement of the components contained within or associated with this kit. RIVA Racing
agrees to repair or at RIVA’s option, replace any defective unit without charge, if product is returned to RIVA Racing freight prepaid within the warranty
period. Any equipment returned which, in RIVA’s opinion, has been subjected to misuse, abuse, overheating or accident shall not be covered by this
warranty.

RIVA Racing shall have no liability for special, incidental or consequential damages or injury to persons or property from any cause arising from the
sale, installation or use of this product.

No other warranty, express or implied, including, but not limited to the implied warranties of merchantability and fithess for a particular purpose,
applies. Various states do not allow for the limitation of incidental or consequential damages and therefore the above exclusion or limitation may not
apply to you.

Warranty does not include the expenses related to freight or transportation of parts or compensation for any inconvenience or loss of use while being
repaired. A copy of the original invoice must accompany all warranty claims.

Warranted replacement parts will be returned freight collect.

Remember, the water belongs to everyone. Please ride responsibly!



GPR Aluminum Battery Tray
PART # RY1120

INSTALLATION IMAGES

ILLUSTRATION #1
M8 X 29mm Flat Head Socket Bolt
M8 Riv-Nut
Riv-Nut Installation Tool
OE M8 Bolt
ILLUSTRATION #2

ILLUSTRATION #3




